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EXIST. CURVE EXCL1-8

PI STA. = 186+53.57

R = 11,040.24’

T = 199.94’

L = 399.83’

E = 1.81’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 184+53.63

P.T. STA. = 188+53.46

EXIST. CURVE EXCL1-9

PI STA. = 196+01.11

R = 2,927.40’

T = 204.55’

L = 408.43’

E = 7.14’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 193+96.56

P.T. STA. = 198+04.99
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EXIST. CURVE EXCL1-10

PI STA. = 208+92.88

R = 3,082.93’

T = 305.00’

L = 608.02’

E = 15.05’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 205+87.88

P.T. STA. = 211+95.90
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